>
»

Eo
Iy

N
»

Jir

R
g

N
~

- L
x oL Y
kS
«?mﬁ@ﬂkﬁﬁgﬁéﬁﬁyjﬁﬁﬁijﬁ
o,
v R

PSRRI R

s & R A RS A R R RbA e pEE (T A PR )

N PEE
FrBE (T2 Smd oot ?’(B”ﬁh Ao /l\,fj‘_]?] SRS B PERY o AR E
FEpE AR AR %

UPAﬁ

TR

£ F R E A R R B P

AHE G B T2

105.09.22. 1055 & & % 1 8 % 2= (752§ ;R &
105.10.03. 1055 & & 5 1 88 5 I 4~ s § R B
105.10.06. % 9 & % 5 =< & ¥ € 3R iF

107.04.20 104 & & & % - £ 5 2 = {752 § R A58
i3 { %(104.10.01)

114.02.01 104 & & & % - £ 5 2 = {752 § R 458
Wi +(104.10.0D)

~HEE R TS F TS REE R L 0 A
D AR A A AL m T

B oo

BRAFT  BRFLGHIINBE L LK A

FREFEL BwRFIM R L RPFEIR B R R RIS
4ﬁlwm$ﬁ3%4%ﬂ}ﬁﬂ,yﬁﬁ7‘% BELY 0 kA RK
RS R SRR b

A2 REAT ES R

d 2
Iy

X
SR

NF 8

*s"r

¥

E
™
g
=

7‘"\ 14:

=~ S fRAT RS

j.
""?’iﬁ?ﬁﬁ L ] +

o B A L T
PR S AR SAEATEY LA

ER LD /Kﬁﬁl?\JLE&E#&ﬂmﬁyk G E -
ﬂm,yug Ipa@qi;

o

DRELH R AL A A A Y R Y P

#*?mﬁﬂ*‘ﬁié i

% ’ Ib\:ﬁﬁpﬁ&d ﬁ\%&/\ l‘j——‘ L_Pé;
RS SRS P

Logqeares FouA L @ oo

TR EFRFRAORST LG RFRERERAERY

ZREE R R

\Eg x

i‘]ﬁ‘?&

X

f

= AN S e N

IS REE S

HEREEE ) B A AR E 0 B el F PR

FHER R ERTFIFEUBFBE A S F - B LFEFTFo



EEXERRRA AR LR REL

¥ % A G
M 56,250
< EM R T 56,250
T ER e 45,000
E e 45,000
LA & 45,000
PN 30,000
% 17 36,000

ERAFRBFGAAPBE A SRR YRR

e WE — S AEATES P | S ARE 0 TS
/K&LE“] R~ $ = (evr £ r'vi) O (a( .
& 2R AT e R AT

e 30, 000 10, 000




